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Fifth Semester B.E. Degree E;;gi%gin';tion, June/July 2018
(:omputer\\!{lfgfiWorks -1
PN

Time: 3 hrs. AN Max. Marks:100
Note: Answer any\fWE Jull questions, selecting
at least{\l’?ifgo‘“q'uestions Jrom each part.
s PART — A
= 1 a. What is the differenqgibéf“)yéen data and information? (02 Marks)
: . What are the basic \§1\1‘a\3"~\a5"feristics of data communication? Explain. (06 Marks)
¢.  What are the funcftiginéfr roles of the following:
(i) Physical fayei~” (i) Data link layer (i) Network layer (12 Marks)
g (iv) Trang,‘g(}f}tl\;‘é er.
& - QAN
Q : 2 a Whaﬁ@@ﬁ};}(\)'u mean by a composite signal? How does it help in digital data transmission?
z Explai. (04 Marksfﬁ‘&\
:s:“ * b. ,{EZef}ne : () Bitrate (i) Bit length. (02 Magk)3
E - QQ‘\Wﬁat is meant by Transmission impairement? Discuss ‘Noise’. a \S ‘/J}‘s‘)
g . S:"What is the propagation time, if the distance between the two points is 12000 kmg me
é “ propagation speed in the cable is 2.4x10° mys. :\6%94’1““"‘5)
g AN
£ a.  Why does multiplexing significant in data transmission? N 78\ (2 Marks)
b.  What is synchronous TDM? Explain. PN “ (04 Marks)
¢. What is the main purpose of spread spectrum? Explain FHSS. (,\\\“S} (08 Marks)
d.  What do you mean by datagram network? Explain its working ;gm\c\i;gl@ (06 Marks)
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4 a. What do you mean by virtual circuit network? Explain ,t_h\‘c‘\‘%t}lblishment phase of virtual

‘E\ L’
A
8 =

2

Sy

g

ST circuit network. ,‘\/J v (08 Marks)

T ¢ Which are the two types of transmission errors? Exp!gu\ir”r;gib) (04 Marks)

-é T ¢. Discuss the error detection and correction techniqug,*/éfin} block coding. (08 Marks)
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S PART -3

g% 5 a. What do you mean by flow control and grftg[,;tintrol? Discuss its improvisation from stop-

g 'L;‘ and-wait ARQ to Go-Back-N protocolvlz{tgd_ 'Go-Back-N to selective repeat protocol.

535 (12 Marks)

5;‘5 b What is the frame format of PPP? Explain. (08 Marks)
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§-§ 6 a.  Explain slotted ALOHA. AT (08 Marks)

8 S - Write the chip sequence quizzé{ations and for 4-stations using Walsh table, (04 Marks)

Sz ¢.  What is the role of M/A,C sublayer? Explain 802.3 MAC-frame. (08 Marks)

= N

£ 7 a Whatis GSM? E&g)i}gn (08 Marks)

Z . What are theﬁiﬁg‘g’,ﬁith Hidden and Exposed node? Explain. (06 Marks)

§ ¢. Which arg é;;é&ers of Bluetooth? Explain. (06 Marks)
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= 8 a Com{ire E *V‘; over 1PV, (04 Marks)
b.  WHARi®NAT? Explain with an example. (08 Marks)
c. (‘.h\&h\ai; is the need IP addressing scheme? Explain IPV,. (08 Marks)
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